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Abstract

Matching 3-D transformed Images using

Scale-Invariant Feature Transform

Hiroki Okao

In this research, a fundamental experiment of object extraction or recognition from
a image which is rotated in three dimensional space is conducted. Image services on the
Internet such as Google Street View provide numerous valuable information. Retrieving
relevant information requires suitable metadata such as keywords or some tags. If no
metadata is given to the image, users cannot retrieve image efficiently. Image recogni-
tion technique can be used for such application without metadata. SIFT(Scale-Invariant
Feature Transform) is one of such image feature, which is robust to image transforma-
tion, for example, lightness, scale, and rotation. In this research, an experiment to study
SIFT robustness for three-dimensional image rotation is performed. Images are rotated
from 0 degree to 80 degree and the relation between SIFT matching precision and the
angle is shown. The result shows that SIFT is robust for three dimensional rotation

from 0 degree to 40 degree.

key words Google Street View, image recognition, SIFT, image rotation
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